ETHICS AND SOCIAL ISSUES

QUIZ: Understanding Through Argumentative Analysis
Read the following dialogues and then answer the questions that follow.

#1

Beverly:  (1) Universities whose mission it is to serve non-traditional students should provide free childcare to all students.  (2) Many non-traditional students have children.  (3) Most students with children cannot afford childcare.  (4) Everyone deserves a good college education.
Dennis:  (5) It’s true that many non-traditional students have children and that (6) most students with children cannot afford childcare.  (7) Childcare, like any other service, must be paid for by someone.  And, (8) taxpayers shouldn’t have to pay for something that doesn’t benefit them.  (9)  Also, the rights of taxpayer’s are more important than a right someone might have to a college education.
Beverly:  (10)  It’s true that taxpayers shouldn’t have to pay for things that don’t benefit them.  But, (11)  without free childcare, many people will not go to college and,(12) if they do, their children will receive inadequate childcare. (13) It will help taxpayers to have more citizens get college degrees, and (14) to have young children be well taken care of.
1. What’s Beverly’s conclusion(s)?
a. She doesn’t argue for any conclusion.
b. Sentence (2).
c. Sentence (1).
d. Sentence (3)
e. None of the above

2. Which sentence is Beverly’s prescriptive premise?
a. She has none.
b. Sentence (4).
c. Sentence (2)
d. Sentence (3)
e. None of the above
3. What are Beverly’s descriptive premises?

a. Sentences (1) and (2) only.
b. Sentences (2) and (3) only.
c. The possible consequences to the mother of continuing the pregnancy.
d. Sentences (1)-(3) only.
e. None of the above
4. What are Dennis’ prescriptive premises?

a. Sentences (5)-(9).

b. Sentences (8) and (9), only.
c. Sentences (5) and (9), only.
d. Sentences (5) and (6), only.
e. None of the above

5. What are Dennis’ descriptive premises?

a. He doesn’t have any descriptive premises.
b. Sentences (5), (6) and (7), only.
c. Sentences (5)-(9).
d. Sentence (8) and (9), only.

e. None of the above

6. About what do Dennis and Beverly agree?

a. Their conclusion is the same and is clearly stated as being the same.
b. One of their premises is the same.

c. All of their premises are the same

d. They don’t agree on anything.
e. None of the above

7. When responding to Dennis, what new descriptive premises does Beverly bring up?

a. Sentence (10) only.
b. Sentences (10), (11) and (12), only.
c. Sentences (11), (12), (13) and (14) only.
d. Everything Beverly mentions in her second paragraph is a descriptive premise that is new to the discussion.
e. None of the above

8. If we assume that Dennis is arguing against universities providing free childcare, what premise would make his argument much stronger?

a. He makes a valid argument as is and is missing no premise.

b. The premise that most children of students are under 12.

c. The premise that Beverly has a college age child.
d. The premise that taxpayers do not benefit from universities providing free childcare to students.

e. None of the above

9. When Beverly responds to Dennis, to what stated premise of his does her new evidence respond?

a. Sentence (5), only.

b. Sentences (5) and (6), only.

c. Sentences (5)-(9), only.

d. Sentence (8).
e. None of the above
10. What is Dennis’ conclusion?

a. He might be arguing that universities shouldn’t have to provide free childcare, but he doesn’t actually mention this.

b. He is arguing to prove sentence (9), only.

c. Sentence (8), only.

d. Sentences (8) and (9), only.

e. None of the above
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